ŘEŠ TABULKY
	a
	24
	52
	96
	127
	150
	333
	374
	600
	280
	415
	510
	199

	a + 74
	
	
	
	
	
	
	
	
	
	
	
	


1. Počítej zpaměti:

	b
	154
	92
	196
	127
	150
	333
	374
	600
	280
	415
	510
	199

	b - 46
	
	
	
	
	
	
	
	
	
	
	
	


2. Počítej zpaměti:

	C
	12 204
	520
	968
	127
	150
	8 374
	600
	280
	199

	c . 10
	
	
	
	
	
	
	
	
	


3. Počítej zpaměti:

4. Počítej zpaměti:
	d
	2 400
	5 200
	9 600
	12 700
	5 000
	80 300
	37 400
	12 600
	90 000

	d : 100
	
	
	
	
	
	
	
	
	



5. Počítej zpaměti:
	d
	2 400
	5 200
	9 600
	12 700
	5 000
	80 300
	37 400
	12 600
	90 000

	d : 100
	
	
	
	
	
	
	
	
	



6. Počítej zpaměti:
	d
	2 400
	5 200
	9 600
	12 700
	5 000
	80 300
	37 400
	12 600
	90 000

	d : 100
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